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I nmwn: status of animal slaughtered without 07 coming out — valid,
a  p’m may be eaten with impure hands, since it has no nkmv? qwan
b w7 itis nRNM Yapn, as the act of NVINY is NRNIVY PWVWIN
¢ Inference: if 07 did come out, it may not be eaten maxion o1
i Premise: the context is PYIn
1 Proofs: mention of i’n, possibility of no 07, @w7p 0T isn’t Pwan (per v. 1 — only o7 which is spilt like water is 7wan)
2 Furthermore: wTpn nan should be nkmvY 1*wan without o7!
ii  Challenge: hands are nkmv? 1w and there is no »»%w in P5n
1 Answerl (37): case is P9 purchased with 1wyn qo3, against n™’s opinion:
2 7 &7 779 anything requiring 0”10 170V (e.g. 1) is WP ®VA, NMIN Y019 and permitted for MWYM PYIN per n™
(a) o2porr: prohibit qwyn
(b) Challenge (»wn 12 207w *7): perhaps D'nan disagree about touching 1wyn, but being fed 7wyn (w/o touching) ammn
3 Answer2 (97): case is m»nNn P (primary NRMV) — per N7 — PHNY M»nn o7 (but NMw — only for Nn1IN)
(a) Question: what are m%nn o?
(b) Answer: per ™, if one sticks his hands into (the air-space of) a y»n n»a: »”1 — primary level; nynon — 2nd
(i) Note: they agree that partial entering is not nX’a (< no n”nn NRMY)
1. Dispute: whether they were 17’ 91 as a precaution against 191 (= 1913 - pPWRI) or like usual o1
(c) Challenge: why not establish " as author, as he explicility ruled that m%mnn o7
(i) Answer: he may have only meant that in re DWW NN, which are severe
(d) Challenge: even if they are m»w, "1 holds (2:n ") that a W can generate nkMY for WYIN (v. 2)
(i) Answer: perhaps he only intended that when the root nxm is n”nn
4 Answer3 (8yw177 ”): case is P9In that were prepared WTpn NNV Y, contra Y "
(a) 2:2 70 if one eats food that is a pPYRY, a 1Y etc.
(i) &7 he takes on status of food (e.g. if he eats a NWRY, he becomes a 1WK")
(if) ywrr 77 if he eats NWRY or MW >1W; "WHY — only for wNp, not for NMIN (i.e. NNIIN NINV HY WPV PHN)
1. Inference: only nnyn nnv Yy, but w1pn nnv has no "wbHw
(b) Challenge: why not determine it to be ywn’ 3, with nnyIn nanv Yy Wy PoHn?
(i) Answer: we are talking about meat — meat cannot be nmIn = not prepared nnyIn NN Yy
(ii) Counter: we also included n'n, which can’t be a 129p (2 not wTpn N1V Yy either)
1. Defense: meat can be confused for meat ->n71; not for nman (fruit not confused w/meat)>no N
(c) «~51's report: the “colleagues” (n"117) supported R»ywin *7’s take; but ’5y felt that it was ywi '7’s author-
ship, and he was indicating that wmp nInv Yy WPV POIN certainly concern v, but even NMIn nnwv ...
(i) The “colleagues”: n”aa1 reported the conversation between X" and > (in re: PYRI Y218 makes a 1WV)
1. #”: the consumer is more severe than the food, per 111V 9 nY11-> consumer can’t be less severe
2. 1. can’t infer from 1Y 9y NY13, as it is a W17'N; but food is more severe; food — Nx13, eater — 2 V19
a.  Therefore: eater cannot be as severe as food (2 NWYR Y 2R YR is a NV)
3. ¥”1 cannot infer NRMY from D NPV
a. Furthermore: that only explains a nw&1 making a 2w; why does a »» make a nv?
b. Answer: 1w makes a »w via liquids
i.  Counter: the liquids themselves become NnWR"
ii. Furthermore: why does a "w’%» make a 1w (Y1 "7's approach)?

iii. w17 /7 only applied to NN NNV YY WPV PN, which are considered 19N vis-a-vis
YVTIPN NNV HY WY
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